EAGRAROBREERT — 2 N— ABISH —F

20205F4R 298 (k) 2mEA#3H

LN Yo% —fk C3MA

‘ [Riz] ¥ ‘ [REBE] — | & (%) 12000 4=

[AE4£] 1 7% :800,000 @ 2 3 :320,000 M

/

3 7&:200,000 @ 4 3% :120,000 M 5 & :80,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N HHE 4. - . - Wissz (KHF)
1 MEEEESTE 0 s B e U R
L4/ v T BiT7p—AbNFAF— BEERS
> 5 | RIIHE 1:15.0 2-2 38.0 — 4 421 | KEFH (KH)
MYl s| 77EVT # 54.0 (4) (+5) | At
R:Z2v—h77)b0> B:ZARPEQL-—Y— AT ke
; B 5 | AEEX 1:15.1 9-8 37.0| — 2 418 | LAEMR (K3H)
3 6 7 /<) 54.0 (1/2) (-a) 1| =ER
LiTANWNRTy a2 BiNnCFU R N7 7 — L4
# 5 | ARRS 1:15.4 6-7 37.6| — 6 472 | SEFHARGA (AViA)
a3\ NT/AVE 453.0 (1 3/a) ) | EREEE (R
R:7UF—v BNF/DATa97IL KEB77— L
o 4 7 | BEEZ 1:15.4 5-3 37.9| — 8 46 | ERAKRE— (KFH)
511 | TIANHYZ 5.0 57 o |EEEs
LY LS IANRAFHYR BAIRAT7/— B E
oS S, K@ AT :16. = . — BEER (KH)
6 5 FIVI T — LT >IN % 5 54.01_3 (13116/21) 1-11 37.6 1 (4_212) ZKEIE—
R:ibIotr K BIRT—LTI—F = JE—
: A 5 | BEEX 1:16.1 7-9 8.2 — 7 481 | EEFE (E)
7|82 BT RN 54.0 ) Gy |uEes
LN=HINK B:ozANanN—y Nipse]
o SR # 6 | AHES 1:16.2 10-10 [37.9| — 5 480 | LIEF (KH)
8|8|13 YoyF—ITIL—F 56.0 (1/2) () |BXE
L:hT I/ RI4T B:7ITI—N—Fh RE B
- — PR :16. — . — FEEFEY (KFHF)
9 NEELEEY, i 5 i (1719672) 8-6 38.3 10 (4326) fider
R:TH IRy b BiYaUIy b BAT 7 — L
= @S it 9 | FBRXE 1:16.5 3-4 39.1| — 9 512 | /NEFFERE (1)
10{7 10| F=/¥>4 *50.0 (1 3/8) L | EEEE
KA Yavk=5— B:AATT-T4 b AFO#%5
2 (U 4 6 | FHEFA 1:16.6 4-5 9.2 — 3 445 | BYSEZ (KH)
AR DN 5.0 (3/4) Gy | AR
LT RIAYAY—2 BiKUD— HREHU-M - A
C oo e N ARG IESE : = — AREEZ (KH)
lsl7 | NTHILRY & it 4 e 1.(}3).6 12-12 [ 39.5 12 (efss) e
xR A7 B:TYyIR—- b A -
N REME — - — — — FHLE5hZz (KFH)
% 9| VT /RN RE— 7 54.0 (f85h) :‘ff) KM
RLZANAF2—)b BT /T RFH BEO%5
® I—F—@EBIERL
13—=7-
23—7F—
== 4,8,10,11,1,3,12,2,6,13,5,7
41—F— 4,8,1,10,11,2,3,6,12,13,5,7
[ N
B 4 1704 794K 4-8 260 & 4-6 4304 &R 4-6-8 1,050
# B 4 100/ 4-6 200 B 4-6 660 EE 4-8-6 3,710/
8 180H4 6-8 510 B = 4-8 690
6 140/ B H 4-8 970M

ARICOVWTRDTEEERROODE. TR LI,




